Timing:- 120 Minutes Full Marks — 100
Note:-
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There are total 110 multiple choice objective type questions, which will include 10 questions on Rajbhasha. Rajbhasha
related questions are at the last (Ques. No. 101 to 110). Question on Rajbhasha is optional. Candidates are advised to

attempt any 100 questions out of 110 questions. If any candidate answers more than 100, the first 100 attempted questions
will count.
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No correction or modification in objective answer is permitted.
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The candidate should use only one ink BLUE or BLACK and should not write their name or any identification marks in
the OMR sheet.
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FAILURE TO OBSERVE THE ABOVE INSTRUCTION MAY RESULT IN DISQUALIFICATION.
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The correct method to encircle the correct option has already shown over the OMR Sheet.
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There will be 1/3 NEGATIVE MARKING for incorrect answers.

1. Which of the following is not the duty of Guard? / Fr=feTRaa & < &7 S 3t sIct 8T & ?
A. Ensuring Safe running of train / ¢ =T w=féra aR=merT =t gFAfRead wHear

B. Maintaining account of detention of trains / ¢t ot faagar o1 f&=ra z=a=r

C. Ensuring punctuality of passenger trains / 82Sie 21 @1 THAGSAT &l FAFREd AT

D. Panel operation for train movement / ¢ wataw & forv d9ar aRame=T

2. Which of the following is not kept in line box ?/ fFr=farRaa & <t foraY a1g diaeT & =11 Z=ar Sitar 87
A. G&SR / Sft Us w31 B. Tri color torch / &= < areft gi=f
C. Detonator / er=ar D. Spare Mobile phone / s1ferRerT AlaTSer BT

3. Loco pilot can’t start train despite given signal until and unless / TR 3 & dTaS[E ATBI URIAC o &I dddh
I A&l BT ThdT & STadsh T

A. Station master instructs him to start / T2erT ARe: A T Hed B AU JAR_FRIa &=

B. Section controller instructs him to start / wa0s fFEi=res S <€ Hed & o TRRERia &=
C. TLC instructs him to start / Elver=ft I =€ T & o R &=

D. Guard instructs him to start / s 3IA € FeT B AU JR_FPT H

4. Guard belongs to which department of railway ?/mg ¥ & bt fomT & w&ERa glar & ?
A. Safety / ==ar B. Operating / attazfér C. Mechanical / =rif3rest D.S&T/ v=r vs &t

5. Uniform of guard is of which color ?/ 7€ @t o<t fl—=m Jr Ft BaT & ?
A. Yellow / dter B. Grey/ o C. Green/ &er D. White / s g

6. Full form of BPC is / &tdi=ft =1 guf fea=or srar &
A. Brake Power certificate / 96 uTa= =féfthabe B. Brakevan power certificate / sicp@T uta= =ficfthape
C. Brake piston certificate / 9tp To=eT =i D. Brakevan piston certificate / sep@ To=e" wiefhade



7. Which type of BPC has longest validity ?/ dtdi=ft 1 ssl—=r uhre ot Juar s« a4t gidt 8?2
A. Intensive / se==ffla B. Premium / &=t C. CC/ <=fi=ft
D. All of the above have same validity / Su=lera =+t @51 daar === Bt g1

8. Which type of wagon is most suitable for coal loading ?/ &I=raT SHET & fIe WA BT HH—AT UHR TG
IuerT B?
A. NBox / u=TaTa=T B.Bost / sii=e C. BCN / di=fio D. BTPN / diidie

9. If a train runs at speed of 100 kmph then how much it will travel in half an hour ? / =rfé fé=ft 2 a5t 7rfer 100 5.
#t ufer ger & af =g mar g A fradt &t ar @t ?
A.30km/ 30 fs#t. B.100km/ 100 &t C.60km / 6o &t D.50km/ so0 fop.st

10. Guard doesn’t exchange signal with ?/ 1 a1 =aTr FRATTer &1 TE—9aTT &l BT ?
A. Station master / =<9 T HIRee B. Gateman / Tlea=
C. Pointsmen / @igesr i D. Controller / wretere

11. Detonator is not used / Yer=aT T IU=ANT &l fpaT SITaT &

A. To start a train in case of emergency / 31TuTa Rerfar & 27 &l =€ = & v

B. To stop a train in case of emergency / 3tmara Rerfar & ¢ @bl Irep & fore

C. To alert the loco pilot during fog / =ReT=IT & SIRTT FlhI Ur=—Ieic 1 =T e B T
D. To protect a train after accident / geeqT & g ¢ &l FRREIT P23 & U

12. Zonal headquarter of ECR is ? / =fta11z T STl H=ATT &
A.Jabalpur / steetqz  B. Gorakhpur / === C. Kolkata / =ptetehar  D. Hajipur / Brsitqz

13. which of the following is not a railway division? / =1 & PIT veh e &t 78 87
A. Hubli / gsreft B. Raipur / Zrerqz C. Ferozpur / Th2ISTqe D. Katni / et
14. Guard will not do duty in which of the following :-/ g 1 & & fore sg<t 7T e Thar &7

A. SLR/ vHUSA3R B. BVZI/ fidiisang  C.BVZC/ dfidis=ft D. PRS/ diatRu=r

15. Capital of Assam is / 3119 Bt 2z=TaT=t &
A. Guwahati / Iamere€t  B. Tinsukia / ferA=gfemaim C. Dispur/ fe=aqz D. Lumding/ <tafS

16. Permissible carrying capacity for cc+8 route is / =fi=ft. 8 wve & 3T A 98T &HaT 8

A.89.6 B.91.6 C.93.6 D.95.6

17. Which of the following belong to operating department / =1 & @I tToRET T | H&fda €
A. Loco inspector / &itept rdteres B. Movement inspector / ararema fFterss

C. Safety inspector / ==& Ftares D. Commercial inspector / aTfersr A<tares

18. Which of the following is correct for power block / ura= =T & fav A1 & &1 =&t 87
A. No trains can run during it / 3= SIRTT BIg ST A&l It TAhdl &

B. Only electric trains can run / =aer f&ed ST 91 Sl &

C. Only diesel trains can run / @aer STar ST 9T HAhdl &

D. All trains can run / =t 2= 91 Thdl &

19. Lower PDD results into/ =»# diSiSt & aRvme w@=sy gidar &

A. More detention of crew/ @ 5t 3rcrferes faeigar  B. Less detention of crew / @ &bt =[da# Taeiddar
C. Less detention of locomotives / eiiepimifea =t =man Reraar

D. More detention of locomotives / @lepiHIeT =BT srcerfees Retaar

20. Which of the following locomotive can be used in passenger trains only / 71 & & BIH—TT SAlhIHITET BT
SH=ANT Baer AT AT B e gar 27

A. WAG7/ s=usit7  B. WDM 7/ s==IStear C. WAP7, s=<gudt7 D. WAG 12/ s=equsiti2



21. Rail Distance between nagpur and bilaspur station is approx/ aRTgE 3fiT fe=TYR T & AT I G T
Bt
A.310 km/ 310 Top .=t B. 410 km/ 410 T&.#t. C. 510km / 510 o6 .Ht. D.610km / &10 T it.

22. Which of the following River flows through korba/r=1 & = IT—=<t <t Hi=ar = glhe T[or=dl 2?2
A.IB/ g9 B. Mahanadi/ m@=<t C.Son/ =1 D. Hasdeo/ &=«

23. Zonal headquarter of WCR is / Ss=1=fta112 T STl H=ATT &
A. Katni/ spe=ft B. Bhopal/ 1iarer C. Jabalpur / Stee1qe D. Kota / sprer

24. Which of the following division is not located in SECR /Pt ¥ & Bl—7T Hser vasiae & Rera =t 87

A. Raipur/ 2raqz B. Nagpur / AIrTqe C. Bilaspur / feerTerqe D. Chakradharpur/ srepa=Rq=
25. Home Minister of India is / s1=a & g #t &

A. Rajnath singh / =rerTer &7 B. Amit shah/ 31T emeE

C. Nirmala sitharaman/ ffeT =ftaresor D. Nitin Gadkari / TAferT TTsehr<t

26. Viswanathan Anand plays / f&rea=reT 31ig fohey w91 & 87
A. Carrom / &= B. Chess/ =ra2st C. Billiards/ feerersd=r D. Golf/ 1w

27. Belpahar is located between / Seusrs forT <e=Y & He=r Ry 287
A. Raigarh and Brijrajnagar/ TRrAIE 3i seReR B. Champa and Raigarh/ =mar 3fl® T=FE
C. Korba and champa/ =si=ar 3ii® =rar D. Champa and bilaspur/ =mar 3ile ffer=1gq=

28. Which of the following manual is kept in line box / &TsT afeT & 77 SHIF—=T fHg31er (G <=4 St 87
A. Commercial manual/epiafRirer dgsrer B. Engineering manual/ sSfifFrerRm dgster
C. Accident manual/ gefesT dq31er D. All of the above / Su=ierT # =13t

29. Durg BhopalAmarkantak express doesn’t come across which of the station /git THarer sm=epess TaeTd=T 71
foreT =TT =¥ Sihe 18T Tei=dl &

A. Raipur/ Trrqz B. Bilaspur / TeetTergz C. Nagpur / A9z D. Anuppur/ 3 UYz

30. Authority T/ 369(3b) is used to/ wTferepR <€t/369(31) T ISu=hT fFFaT SITAT &

A. Pass train during power block / ama= &Tep & R ¢ BT 9T He+ D faw

B. Pass train during signal defect/RTer & <a=met & SR o1 &I YT e & oo
C. Pass train during rail fracture/ 1 Baa=z B SR T B =T HA D fow

D. Pass train through accident site / gefeqT T=&Iat =¥ 29 &I T &2 & o0

31. HOER is related to / varsngarne wsfera &

A. Rules related to hours of work / =rr=f e & =«fea Fremt &
B. Rules related to rest / ?<c &t =&fera FremT &%

C.Both Aand B are correct / v va &t g1 <&t &

D. Neither Anor Bis correct/ =¥ & U 3l = & &t =&t &

32. Crew link in passenger trains means /am=it 3=t & & foies &1 Aded &

A. Online link to access crew biodata / =& 9TRNSTET @l TaFRTAH 1 B AU 3T 187 foAs

B. Crew detailed schedule day wise and train wise /& 3t 7= 3T &7 TR & SET Ra=or
C. crew details linked to their place of posting / =_=sT fEa=oT I TiReT == AR

D. Link having Crew training schedule / @ =T 3=t | Hdfera &

33. Which of the following is not a crew changing point / =1 & & =i =_ITS1T w1se 781 ©
A. Shahdol/ =rester B. Bijuri/ fesiEt C.Surajpur/ ¥zsqz D. Umaria/ safR=m

34. Station nearest to Sohagpur mines is / SNERTYE ATS=T ¥ B ASIEIH &
A. Pendra/ 9=gTB. Champa/ =rar C. Burhar/ ge1= D. Raigarh/ =r=rTe



35. Which of the following wagon doesn’t have a door / =T fdeT 317 & gearsIT & |ar &
A. Nbox/ v=dTerTB. BLC/ dftuat=ftC. BCN/ «fit=ftet D. All of the above have door/ Su=lea =+t & g=arst ala €

36. Cement is generally loaded in / =m™T=Iar: =ft¥e %1 T T STar 8
A. Nbox/ v=dTereT B. Bost / siiee C. BOBR/ #iafieftare D. BCN/ dfi=fteTt

37. WBC belongs to which department / s=&Et=it frer ffmT = <&fera giar 27
A. Mechanical/ =rif2rept B. Operating / 3fTa=fer C. Commercial/ arforsr D. Electrical / farge

38. Katni station falls under which zone / @redt =T fhaT ST & I fa 3mmar &7
A. WCR/ s==pzftate  B. ECR/ g=ftam=C. SER/ T=iga1e D. SECR/ vard=itam=

39. Pointsmen is not involved in which of the following / @Tge=ri g Trers wf®afera =€t glar &
A. Signal exchange / f3317er &1 3TIqTT—usrT  B. Stabling of rake / <6 @1 <e=ATaT
C. LC gate operation / =141 Wwiess T af¥arerT D. block instrument operation / siTes SueheoT T gR<ATrT

40. Height gauge in LC gate protects / B1ge 75T, THUR WIceh &l SRI&T THedm &
A. OHE/ 3niu=g B. Gate signal/ fte Rsm=aC. Track/ @ D. None of the above / Su=iara & I =&t

41. Color of water is / a1t 6T 2T BT &
A. White/ =1 B. Green/ =1 C.Blue/ sfteir  D. Transparent / ureeeft

42. Which of the following is not a type of coach ?/f7=1 & PBIT &I BT TP UhIE 78l 87
A.ICF/ smrs=flow B. LHB/ vete=et C. BRN/ dftatRes
D. None of the above is a type of coach / Su=lerT & <t whIg it wlT BT TP UhR =& &

43. Which of the following is not an accident in railways / =7 & <% &I e H GECAT T TS HIROT 81 &
A. Derailment/ 3tauz=T B. collision / TrEa
C. Signal passing at danger / T9T9er @ =aa=T & e @21  D. Occurrence of Rail fracture / ¥« Warae Bt geT

44. Things which are not seen during signal exchange / Rt 3stig—veT & R dist st fRRad =gt 2t &
A. Alertness of crew/ @ @t =fstar  B. Hot axle / gfe va=ter
C. Hanging part / sicepar f&==rD. Crew line box /& &g dfery

45. Which of the following software is used by railways for coaching train operation ? /1= 21 & aRaraT & fore
T ATHRed=IR BT U=IRT T STaT 87

A. RMS/ stRUHT=T B. TMS,; dturu=r C. FOIS/ twanamse=r  D. ICMS/ amg<fiurau=r

46. 228 divided by 19 gives / 228 T 19 & WRT & U< TIT
A. 16 B. 22 C.12 D.14

47. Price of a shirt is 500%. If shopkeeper gives 20% discount then new price would be / T @HisT @t PBiHEaT 500
T T AR ghER 20 UldRTd &5t 8¢ T § af s SHIAd F=&T sHI?
A. 100 B. 400 C. 600 D. 1000

48. Permanent speed restriction is mentioned in / ===t 1fer ufdraer o1 Soot=a &lar &
A WTT/ st B. Operating manual/ stfa=féT fg3ter C. G&SR/ Sft vs vea= D. BPC/ «ftdi=it

49, If an officer is holding post of DSC in a railway division then stands for / =rfeé @Id 1Pt Stom=ft & ug U= & ar
o=t o1 31TeTr ar ¥

A. Divisional safety commissioner / f&disrer Siu<t seter=

B. Divisional store’s commissioner / fadis1er =ei® FHte=

C. Divisional security commissioner / f&dtereT FRAeRIRET e

D. Divisional staff commissioner / f&dlsr1er =<cie FHHte=

50. DMM officer in Indian railways is ?/ #edter 3ea & Sored s gar &
A. Divisional medicine manager / f&dis1er AfE=iT dAse



B. Divisional media manager / f&diser fafEar dAs=
C. Divisional material manager / f3diser ¥fR=rer ST
D. Divisional Movement manager / f&disiter Hasic fAse

51. Which of the wagon does have a doorin it ? / ®<—<T I & gal=IT BaT 87
A. BCN / dft=fteT B. BLC / <tuet=it C. BTPN / ditdiet D. BRN / dtaree

52. Which of the following locomotive has the maximum horse power? / =7 IF—T ailepY #@ifea & 3rfdpan &=t
qre= glar 87
A.G7/sft7 B.G9/site C.G5/sfts D.Gl12/ sft 12

53. Which of the following is not correct with respect to last vehicle trains / 71 & —aT 3 98T 27 B T§=
" =gt e 87

A. Runs without guard in the rear / & f&=T i€ & = e=T

B. Tail lamp attached at rear / 9i& SsT e S

C. LV board attached at rear / ¥1& {31 Tt A

D. No brake van at all in the train / 27 & <hI$ bR hT &l BT

54. Shell Life of detonator is :-/ 9eT=aT T Sfta=T Tet BldaT &
A.3 years/ o3 a¥ B. 4 years/ 04 a9 C.5years/ o5 a¥ D. 6 years/ o6 at¥

55. Which of the following is not the type of goods wagon ?/ 7#1 & ShIT—T 7[S<T 31T T UHIR 81 © ?
A.BRN / dtarReT B. BCN / dt=ftet C. LHB / veT=st D.BTPN / itdteT

56. Zonal Head quarter of Northern railway is in / Ia=t ¥e1er h1 ST =TAT &
A. Delhi / feeft B. Agra / 3 T=T C. Jaipur/ sraqe D. Ambala / sraTeT

57. Which of the following is not a division in Indian Railway / 7=t ¥ & BT 9Rdtr I H vep BdterT =T 87
A. Bhopal/ *arer B. Jabalpur/ Staerqz C. Dhanbad/ g=e18 D. Gwalior / TaTfer=re

58. ART stands for / Tat=el =T 3Terr @
A. Accident Relief Train / varfide Refiw o1 B. Accident Rehabilitation Train / vaft3e RadleieeT 21
C. Accident Restoration Train/ varefiae R=elRe= 21 D. None of the above / Su=lerT & & HIg AT

59. Maradona played which sport / #ARTSIFT et a9 | Hdfaa €
A. Hockey/ &Tept B. Cricket/ fépepe C. Football/ wedter D. Golf/ mew

60. 287-193 gives / 287 — 193 <hI UfRUTIH =T SFIT?
A.97 B.94 C.96 D.92

61. Speed restrictions are generally imposed on/ 71fer ufeser s mH=Ia: S fopaT Sitar @
A. Engineering work site / gSii==FsT el =IeT U= B. High degree curves/ S=r 24t gHra uz
C. Low strength bridges/ =1 e1féRT g1l u= D. All of the above / Su=TerT =t

62. Generally speed restrictions are not imposed on :-/ |THI=I: ITfear fdSal oY wal A&l =T SIar 82
A. High Degree Curves / S=a 33t o B. Boulder falling zone / aeer® =t araT &=
C. LC gate in a section / Z9vs H HHUR WHIchl H D. Site of weld failure / des Be=NT b1 HTsC

63. NI working means / U131 IfhIT BT AddAd &
A. Non interlocked / AiTA—gczellas B. New interlocking / =J_gezatferT
C. Non interchange / ATA—ge=ast D. New interchange / = geast

64. Indian Railway logo has / Wedt=r Fea & & 7 &
A. Brake van / sss&T B. Loco / &ilehT C. Signal / Rrer D. Wagon / &1

65. Which of the following is duty of pointsmen / 77 # T @TsedT =t SISt 27?2



A. Shunting of loco / &Rt @1 wrfdT B. Crank handle operation / @& Esa1 ulRaTa=T
C. Signal exchange / et @61 3@ T—verT  D. All of the above / Su=IerT =t

66. Footplate inspection by officers means :-/ 3fEepIR= &RT Hewe FRIEUT &1 Adag sar &
A. Inspection of accident site / gardaT ==rer =h1 fAtaror

B. Inspection of section by running train / =[{T 2 g=T 2gvs 1 HLteror

C. LC gate Inspection / =1HUTR Wwiceh fA<taror  D. Running room inspection / & w# fAteror

67. Hot axle means / &fc UaTeT T Add ©
A. Fire in wheels / afg&=r & a1mr B. Fire in axle counter / ToFRIaT WhpISee H 3WT
C. Fire in Loco / &fiepT & 3107 D. Fire in station / =211 & 31T

68. Capital of Gujrat is / Ietera =Bt STar=t &
A. Ahmedabad / stEnceEE B. Jamnagar / sts=s1e  C. Rajkot / zTsTenie D. Gandhinagar / el

69. Which of the following doesn’t not belong to engineering department / 7=t ¥ & I geitf=r=r=T T =%
HeferT & &2
A.Keyman / ardft8  B. Gangman/ fma C. ESM/ gu=reHD. IOW / 3mdsnse=y,

70. Which of the following is not a signal type ?/ =T & &% &IT vep RIS T UbIR &l 87
A. Shunt signal/ sie RysTer B. Calling on signal / =sifetsT 31t Rser
C. Distant signal / fa=Ce RyT1er D. veeder signal / &tse Rer

71. Statute of unity figures / weraT =t HfTF fh1ept 37
A. Jawaharlal Nehru/ StaT@e «ter Ags B. Sardar Patel / =T=gI® ucer
C. Mahaatma Gandhi/ #gTeT TTEft D. Subhash ChAndra Bose / =¥y === 9=

72. Jaipur Division is in which zone / Sterqz &St fhet ST & 31T 37
A. West central railways / afas #er ?ea B. Western railways/ afe=sit 2ea
C. North western railways / St=—uff=as *eia  D. Central railways / 7= 3@

73. Which is the highest loaded commodity in Indian railways in the year 2019-20/ a¥ 2019—20 ® WRdler Fed &
s dAqrT &bt ST areft =t &

A. Cement/ =fi#e B. Coal / spl=reiT C.lIron ore / 3T=RT 31T D. Food grains / 319TST

74.S0D in Railways means / ¥ H T3NSl T Aded &
A. Schedule of Dimension / Rrs¥er 31T SRA~T B. Sign of Danger/ =1 3ATH Ssie
C. Scale of Detention / =@er 31T TFe~=11 D. Scheme of Drawing / =@te 31T% FIST

75. Method of coal loading is/ @l=reaiT seTT @t f&afer &
A tippling / fewfTir B. Hopper / &ma= C.Silo / =g D. None of the above / Su=lerRT & = I &

76. Which of the following Wagon is having bottom discharge mechanism / =1 & <t et 917 & 19 &+t 3=
=== =3t v gar 27
A. Nbox/ w=siTereT B.NS/ vAv=r C. BOBR/ dtafidftse D. BCN/ di=fte

77.BLC wagon is used for loading of / dtua=it 31 1 SU=NT FahererT & f&v fhar smar 27
A. POL/ dtanteeiB. Milk/ gar  C. Container/ s==ie  D. Alumina / vegstaT

78. A CC rake with BPC issued on 1st December 2020 will become invalid to load on / 01 féefs=® 2020 @I SIT=T «fidi=ft
B T Uh ATt 3F oIerT @ AU e 31der aFft?

A. 29th December 2020/ 29 f@=is® 2020 B. 30th December 2020/ 30 f@=fs= 2020
C. 31st December 2020/ 31 f@=isT 2020 D. 1st January 2021/ 01 SiHaZt 2021



79. Which of the following station in Bilaspur Division does not have Goodshed :-/ féemeqz f&efisT & 77 & =1 &I
¥ R # Iz O =L _?
A. Shahdol/ srEster B. Bishrampur/ f&smaqe C. Naila/ sterr  D. Umaria/ safR=m

80. Vande Bharat express runs between / §& H=Ra vaa9=T Toh1d #er Iardt 87
A. Delhi-LUCKNOW/ Teeeft—ar=a-1 B. Delhi -Prayagraj/ RReeit—w=amr=rs
C. Delhi-Varanasi/ féecft—a=ToT=ft D. Delhi-Patna/ feecft—aeaT

81. Maximum permissible speed for ICF coaches is / Tg=fiew ==t & forv fEepan srga=r i1fa &
A. 100 kph/ 100 ferHtuferaer B. 110 kph/ 110 frHtuféraer
C. 130 kph / 130 fersftuferaer D. 160 kph / 160 feretuferaer

82. Colour of G12 locomotive is / St12 spiAeT o1 2T &
A. Green/ &1 B. Red/ &1t C. Blue / fer D. White / = 1wg

83. SSE in railway means / ¥¢d ® UHUAS BT Hdod &

A. Senior supervising Engineer/=ftfA=Ie Fu=arsfeim sfif=eB. Senior section Engineer/=fif=—e AeerT sSiife=r
C. Senior superintendent engineer/ =fifF=R Tuitese St

D. Senior station engineer/ <fifFree =2er T sSitfe=r

84. At what distance from last vehicle is first detonator placed for protection of train after an accident ?/ fér=ft geleaT
@ d1q o Bl AT &b THAU 3ifemT areT | fha-t gft 92 uselT 9er=ar T SIed ?
A.400m/ 400 #Htlee B.500m/ 500 #tee C.600m/ 600 #Htez D.700m/ 700 #HieT

85. Who among the following do not keep Detonator ?/ 77T & =¥ HIT deTear A&l 22a dhdr &7
A. Loco pilot / =itepT uT=IeTe B. Guard / 7€ C. Gateman / led=T D. Signal maintainer / RaTer AtA=

86. Which of the following is the duty of guard after derailment ?/ 3@z & ag 1 & & @=IPTS Wt ST &7
A. Protection of accident site by placing detonator / 9er=aT eTIehe gEleAT =0T &I T=f&a T

B. Arranging loco for ART/ T3T=<t & ToIu &fiepl ol =Ia==aT heAT

C. Planning Diversion of trains / 2T & 3o ot ASTAT S4TAT

D. Repairing of Track / && &hT AT AT

87. How much is running room rest if crew has duty for more than 8 hours ?/ =1fé = = 08 dier & STer St fhar &
ar g8 = o 7 fopaar et 3 & =par 37
A. 6 hours/ o6 =er B.8hours/ og gler  C.10hours/ 10 sier  D. 16 hours / 16 sier

88. What is SF 11?/ v=e®w11 =T 87
A. Suspension / ffreesT B. Major penalty chargesheet/ Asi® 9Tt aTSiefie
C. Minor penalty chargesheet/ ATg91=® 9Tt arstefie  D. None of the above / Su=lea & & hig =&

89. 24 X 17 gives / 24 X 17 =1 ufRomH o=t BRIT?
A.428 B.408 C.398 D.418

90. Serving station for Moser Baer power plant (MBPJ) is / HISiT J9I® UTaR @ic@HdIdlS) & foiv J9=a =T &
A. Anuppur/ 3g9e  B. Jaithari/ Sias<t C. Venkat nagar/ dere1i=e D. Kotma/ =pia=r

91. Boby is generally used for loading of which commodity ?/ =Imam=ra: dianetarg o1 Su=rir foeer TRt & e &
fero fEpam STar &7
A. Steel / =sfter B. Ballast / =siTee C. Sleeper/ <=sftlaz D. Rail 7 =»er

92. Which party won conducted Bihar election in 2020 ?/ 2020 ¥ ¥ wru~T f&@rR T & w7 gt &=t g7
A. LIP/ wersidt B. NDA/ wEte C. NCP/w==f1dt D.RID/ =it

93. Averageof 1,4,8and 1lisequalto/ 1, 4, 8 3fiT 11 or 3i=T &
A4 B.8 C.6 D.9



94. Which of the following doesn’t cause detention of trains/ =1 & & 1T 271 & TaagaT &1 BT =74 87?7
A. Removal of speed restriction / 71fer uferer et ger=T ST B. Defect in signal/ Rser & <a=ret
C. Rail fracture / a1 Baa= D. Loco trouble / =it & 2a=Tet

95. High court of Chhattisgarh is located in / BxflerTe & SO == 1T &
A. Raipur/ Zraqz B. Raigarh/ =rrTe C.Durg/ gt D. Bilaspur / f&etr=qe

96. Notice station in railways serves / Fea & FIeET e |A4T St &
A. BPC/ dfidi=ft B. Wagon bill/ a3t f&=1C. Caution order / ==aehdT 3TIe®T D. Shunting memo / eifET a5

97. ACP full form is / w=ftdt =1 gyoizeu &
A. Assisted chain pulling / stR=es =1 gfeisr  B. Alarm chain pulling / stemnt a1 gfei
C. Advance chain pulling / vsai=r 3= gfeir D. Alert chain pulling / 31&€ a1 gfeiTT

98. LWP means / veTs==[dt T Ao &
A. Leave with pay/ <fla fag o B. Leave without pay / =fta f&gsmse o
C. Leave with half pay / <fla fag g% @ D. Leave with penalty / &fta fag a=1t

99. Which of the following can cause derailment / =T & &t &I ves gEeAT T HRUT & THdAT & °7

A. Speed restriction/ Irfer uferEer B. Uneven loading in wagons / @391 @1 3=iqfeta a1
C. Running trains at MPS/eadit=T 9= ¢ T Iai-1T

D. Passing train through loop line /oq[g &1sT & BIehe & hT 9= AT

100. T/G board indicates to loco pilot and guards about / €t/sft €I sl gTeree 3T M & T F=ar @
A. Termination of speed restriction for goods trains only / &aer 7[s=1 4T = ToU 71fer ufdser &t =ATGT

B. Termination of speed restriction for passenger trains only / @aer d=2is1=® ¢t & Tore Irfer ufaae ot =wTia
C. Termination of speed restriction for all trains / =3t ¢t & fere Irfer uica ot =TT

D. None of the above/ Su=la=T & & @hI$ T&T

101. According to official language rule under which region Andaman and nikobar island comes:/ =r=srTeT s &
IR AsAE T Freplae ga e &= & sifa ara 7
A.REGION A/ &= ©B. REGION B/ &= «fIC. REGION C/ &= =ftiD. NONE OF THE ABOVE /Su=lerT & & @his Tl

102. How many members are there in the Parliamentary Committee on Official Language/ ZTT4TST At # HHEg &
TP Te=r gIa &7
A.30 B. 22 c.20 D.10

103.What is the expansion for OLIC used by Dept. of Official Language?/ =r=r+{meT fa9 1T SRT U=ad NS &1
=R o= 8°

A.Official Language Information Committee/ 3ftfrefterer S7dsT gAHIRHTIT HACTH

B.Official Language Implementation Committee/ 3ifftheftarer dAdsr grAta=TerT HACT

C.Official Language on Important matters Committee / sfiftrefterer S7dst 3117 g=de dAew HACT

D .Official Language Implementation Clause/ sftfeefterer st grcfta=erT oSt

104.In which year Maithili, Bodo, Dogri and Santhali were added to the Eighth Schedule later? / a1¢ # s srg=f=it &
ey o AT, aisY, PRt 3 et wNT o6 StsT =T ?
A. 2000 B.2003 C. 2002 D. 2005

105.When was Official Languages Rules amended? / 2r=rHmeT Frem & g o»d 31T a7
A.1976 B. 1987 C.1985 D. 1990

106. . Who was the First Chairman of the Parliamentary Committee on Official Language constituted in the year 19767/
a¥ 1976 H ST ISTHINT B TS FAST B TS TSI BT o7

A. OM Mehta; 3t va Agar

B.Baba Ambedkar/ smeT 3reisse

C. Lal Bahadur shastry/ &Iter 9812 oI==it
D.B G khare/ €t Sit w2



107.The Central Hindi Samiti (Committee) comes under which Ministry? / STar &<t @fafa@act) e AT &
At 3TaT 87

A.minstry of education; fRraT #HaTe=r

B. ministry of law/ s waTeT=

C.ministry of home/ I8 H3Terer

D. ministry of foreign affairs / f&cer w=T=I

108.Which is the elementary Hindi course prescribed for Central Govt. employees? / @=fter syt HHaT==t B
fov FratRa urafEes R wi=t o= &7

A.PARANGAT/ Ur=ra

B.PRAGYA/ usiT

C.PRAVEEN/ weftor

D.PRABODH/ weits

109.When was the Parliamentary Committee on Official Language constituted?/ ITSTHINT U2 Swdtr dfafa oa g4t 7?
A. January 1976/ S1a<t 1976

B. December 1975/ fé=s= 1975

C.January 1978/ Se<t 1978

D. December 1978/ fé=fa= 1978

110. During which tenure as rail minister the Hindi Translation of Railway Budget was prepared?; férer 2er #HT &
TMThTA & IR A gic ol B 3rgarg g3m?

A. Lalu Yadav/ &Tef_ e

B. Lal Bahadur Shastri/ &fTer s@Tqz @rm==it

C.Mamta Banarjee/ #saT S=rsft

D. Suresh Prabhu / <=1 w3y

...End....



